MAP2302 Name: K e j

Exam 1 Section:

This exam contains 7 pages (including this cover page) and 8 problems. Check to see if any pages
are missing. Enter all requested information on the top of this page, and put your initials on the
top of every page, in case the pages become separated.

You may not use your books, notes, or any calculator on this exam.

You are required to show your work on each problem on this exam. The following rules apply:

e Organize your work, in a reasonably neat and

coherent way, in the space provided. Work scat- Probl Poi
ts| S
tered all over the page without a clear ordering roblem | Points core
will receive very little credit. 1 5
s Mysterious or unsupported answers will not
receive full credit. A correct answer, unsup- 2 5
ported by calculations, explanation, or algebraic
work will receive no credit; an incorrect answer 3 1
supported by substantially correct calculations and
explanations might still receive partial credit. 4 2
¢ If you need more space, ask for an extra sheet of 5 9
paper to continue the problem on; clearly indicate
when you have done this. 6 1
Do not write in the table to the right. 7 5
8 4
Total: 25
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1. (5 points) Solve the following Bernoulli equation.
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2. (5 points) Find an integrating factor and use it to solve the following equation.

(2zy)dz + (> — 32%)dy =0
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3. (1 point) Find a general solution to the given differential equation.
v -6y +13y =0.
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4. (2 points) Solve the following equation.
v~V dy + ye*® sin(z) dz = 0

ol Cosx
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5. (2 points) Find a positive integer m such that (z) = z™ is a solution to the below equation.

dy m%—-3y=0

2
T T

" m-2 -1 th
P/'.‘j " ?{“:X X (mm-1X )~ xtmﬂxm ) -&x ) =0
(/) ]
m(m-1) X + (m)X -3X =0

xm ( m(m-1) -m -3) =0

xm(mf_zm -2) =0 ,f m (s a
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-3) (mr) = ~  guncteatic
Im= 3o M= - Hhen x”,sa Solh

6. (1 point) Draw the set of isoclines for the values ¢ = —2,—1,0,1,2 for the equation below.
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7. (5 points) Solve the following initial value problem.

sin(z:)-g—f—: +cos(z)y = xsin(x), vy (g) =2

oy ¢
dx 3 P cot X
frondy  Intsinxd
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8. (4 points) Transform the following equation into a separable equation.

(z+y-1dr+(—=z+y-5)dy=0

h-l-K—l =0}=\ hik = |
W K -5 =o itk 2 S

2K= ¢
Dkz3 and he-2
So ’Cf'"

X =u-2 4 =VF3
dx= du Jj = dv

((u4\+4V+9—|\du1-(-(w¢)+(w5)-s)4v : 6
(UH-V)Ju + (-u +v)Jv =0

@) du = @w-v)dv

3 dv = U+v
du

W-Vv
Lel Z‘V/M
dv o+ (%) )
du Y uz=v

“'(V/u) ué_% +t=é.‘_’

du du

A udz - 2 ,
= u"g;"'z - -,--‘-’--'" LJI’“GA '35 sefawfa—[o/c.







